
  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2018. 

Second Year 

Corporate Secretaryship 

Paper XI — ADVANCED ACCOUNTING 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

All questions carry equal marks. 

1. Define Partnership. 

 Tmhõsø© Gß£uøÚ Áøμ¯Ö. 

2. Define Company. 

 {Ö©® Gß£uøÚ Áøμ¯Ö. 

3. What do you mean by Amalgamation? 

 {Ö©[PÒ Tmk ÷\ºuÀ (Amalgamation) £ØÔ }Âº 

AÔÁx ¯õx? 

 UG–433 BCO–33 



 UG–433 2

4. What do you mean by Liquidation? 

 {Ö©U Pø»¨¦ £ØÔ }Âº AÔÁx ¯õx? 

5. What is hire purchase? 

 uÁøn •øÓ öPõÒ•uÀ GßÓõÀ GßÚ? 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Arul, Babu and Charu are equal partners. On 
31.12.1992 their Balance Sheet was as follows : 

Liabilities Rs. Assets Rs. 

Capitals :  Buildings 19,500

Arul 16,800 Furniture 2,400

Babu 12,600 Stock 11,400

Charu 6,000 Debtors 10,800

Creditors 6,000 Cash 600

Bills Payable 3,300  

 44,700  44,700

 On that date, Durai was admitted for 1/4th share of 
profits on the following terms : 

 (a) That Durai brings in cash Rs. 9,000 for 
Goodwill and Rs. 15,000 as capital. 

 (b) That half of the Goodwill shall be withdrawn 
by the old partners, 
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 (c) The stock and furniture be depreciated by 
10%. 

 (d) That a provision of 5% on debtors be created 
for doubtful debts. 

 (e) That a liability for Rs. 1,080 be created 
against the bills discounted. 

 (f) That the buildings be valued at Rs. 27,000. 

  Prepare revaluation account and partners’ 
capital account. 

 A¸Ò, £õ¦, \õ¸ BQ¯ÁºPÒ \© ÂQu Ai¨£øh°À 

C»õ£ |mh £QºÄ ö£Ö® TmhõÎPÒ, 31.12.1992 

B® |õÍßÖ AÁºPÐøh¯ C¸¨¦{ø»U SÔ¨¦ 

R÷Ç öPõkUP¨£kQÓx. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

‰»uÚ® :  Pmih® 19,500

A¸Ò 16,800 AøÓP»ßPÒ 2,400

£õ¦ 12,600 \μUQ¸¨¦ 11,400

\õ¸ 6,000 PhÚõÎPÒ 10,800

PhÜ¢÷uõºPÒ 6,000 öμõUP® 600

©õØÖa^mk ö\¾zu 

÷Ási¯øÁPÒ 

 
3,300 

 

 44,700  44,700
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 31.12.1992 B® |õÍßÖ, xøÓ Gß£Áº 1/4 £[S 

C»õ£zvÀ ¦v¯uõP ÷\ºUP¨£kQÓõº. AßøÓ¯ 

vÚ® RÌUPsh uPÁÀPÒ AÔ¯¨£kQßÓÚ. 

 (A) xøμ GßÝ® ¦v¯ TmhõÎ ¹. 9,000 öμõUP©õP 

{ÖÁÚ |Øö£¯¸UPõP öPõsk Á¸QÓõº. 

÷©¾®  

¹. 15,000 ‰»uÚ©õP öPõsk Á¸QÓõº 

 (B) {ÖÁÚ |Øö£¯›À £õv AÍÄ £øÇ¯ 

TmhõÎPÒ GkzxU öPõÒQßÓÚº 

 (C) \μUQ¸¨¦ ©ØÖ® AøÓP»ßPÐUS 10% 

÷u´©õÚ® {ºn°UP¨£kQÓx 

 (D) PhÚõÎPÒ «x 5% I¯UPhß JxURk 

ö\´¯¨£kQÓx 

 (E) ©õØÖa ^mk ö\¾zu ÷Ási¯øÁPÐUPõP  

¹. 1,080 JxURk ö\´¯¨£kQÓx. 

 (F) Pmih® ¹. 27,000US ©v¨¥k ö\´¯¨£kQÓx. 

©Ö©v¨¦U PnUS ©ØÖ® TmhõÎPÎß 

‰»uÚU PnUSPøÍ GÊxP. 

7. Explain the factors affecting Goodwill. 

 {ÖÁÚ |Øö£¯¸UPõÚ PõμoPøÍ ÂÍUSP. 

8. Elucidate Merger and Acquisition. 

 {Ö©[PÒ Tmk ÷\ºuÀ ©ØÖ® öPõÒ•uÀ £ØÔ 

ÂÁ›UP. 
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9. How would you calculate Liquidator’s 
remuneration ? Illustrate with your own example. 

 {Ö©U Pø»¨¦ A¾Á»›ß Fv¯® GÆÁõÖ PnURk 

ö\´Áx? GkzxUPõmkhß ÂÁ›UP. 

10. Mr. P purchased 4 Cars for Rs. 14,000 each on 
1.1.1992 under hire purchase system. The hire 
purchase price for all the four cars was Rs. 60,000 
to be paid as Rs. 15,000 down payment and the 3 
equal instalments of Rs. 15,000 each at the end of 
each year. Interest is charged at 5% pa. The buyer 
depreciates the car at 10% p.a. on straight line 
method. Prepare necessary ledger accounts in the 
books of both the parties (Interest calculation, hire 
vendor’s account, hire purchaser’s account and car 
account). 

 v¸. P Gß£Áº 4 ö\õS_ FºvPÒ ¹. 14,000 Ãu® 

1.1.1992 AßÖ uÁøn •øÓU öPõÒ•u¼À 

Áõ[SQÓõº. AøÚzx 4 FºvPÐUS® 60,000 

öPõkUP¨£h ÷Ási¯ {ø»°À, ¹. 15,000 

•uÀPmh £n©õPÄ®, Gg]¯ £n® ¹. 15,000 Ãu® 

3 uÁønPÎÀ ö\¾zuz uUPuõPÄ®, ‰ßÖ 

BskPÎÀ ö\¾zuz uUPuõPÄ® 

{ºn°UP¨£kQÓx. Ámi¯õP 5% Bsk 

ÁmiÂQu® {ºn°UP¨£kQÓx. öPõÒ•uÀ 

ö\´£Áº FºvPÐUS 10% ÷u´©õÚ® {ºn¯® 

ö\´QÓõº. C¸Á›ß ÷£÷μmkU PnUPøÍ u¯õ›UP. 

(Ámi PnUS, TmhõÎPÎß ÁõhøPUS P/S, 

ÁõhøP öPõÒ•uÀ PnUS ©ØÖ® FºvPÒ 

÷uøÁ¯õÚ PnUSPøÍ GÊxP.) 
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11. On 1st April 2015, A Limited issued 5,00,000 
equity shares of Rs. 10 each to public. 

 Share money is payable as below. 

 Share application = Rs. 2 on application 

 Share allotment  = Rs. 3 on allotment 

 Share First call  = Rs. 2.50 

 Share Second call = Rs. 2.50 

 All money dues were received except first and 
final call on 2,000 shares. Pass journal entries to 
record the above transactions (including cash 
transactions). 

 ‘A’ {Ö©®, 5,00,000 £[SPøÍ (\© E›ø©¨ £[SPÒ) 

¹. 10 •P©v¨¤À 1.4.2015 AßÖ ö£õx ©UPÐUS 

öÁÎ±k ö\´QÓx. 

 £[S Âsn¨£z öuõøP – ¹. 2 

 £[S JxURmkz öuõøP – ¹. 3 

 £[S •uÀ AøÇ¨¦zöuõøP – ¹. 2.50 

 £[S Cμshõ® AøÇ¨¦zöuõøP – ¹. 2.50 

 GÀ»õ £n•® ö£Ó¨£mkÂmhx. BÚõÀ, 2000 

£[SPÎß •uÀ ©ØÖ® CÖv AøÇ¨¦ £n® 

ö£Ó¨£hÂÀø». •uÀPmh £vÄPøÍ (journal 
entries) ö\´P. 
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12. X, Y and Z are partners sharing profit and losses 
in the ratio of 4:3:2 respectively. Their Balance 
Sheet as on 31.12.2005.   

Liabilities Rs. Assets Rs. 

Creditors 14,000 Cash 6,000

Capital :  Debtors 4,000

X 16,000 Stock 8,000

Y 8,000 Buildings 22,000

Z 2,000  

 40,000  40,000

 On the above date, the firm was dissolved. Assets 
realized Rs. 19,600, Creditors are settled in full. 
Prepare Realisation Account. 

 X, Y ©ØÖ® Z TmhõÎPÒ, u©USÒ 4:3:2 GßÓ 

ÂQuõ\õμ Ai¨£øh°À C»õ£ |mh[PøÍ £Q¢x 

öPõÒQßÓÚº. AÁºPÎß 31.12.2005 B® 

÷uv°h¨£mh C¸¨¦{ø»U SÔ¨¦ R÷Ç 

öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõºPÒ 14,000 öμõUP® 6,000

‰»uÚ® :  PhÚõÎPÒ 4,000

X 16,000 \μUQ¸¨¦ 8,000

Y 8,000 Pmih® 22,000

Z 2,000  

 40,000  40,000
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 {ÖÁÚ©õÚx 31.12.2005 B® |õÍßÖ 

Pø»UP¨£kQÓx. ö\õzxUPÒ ¹. 19,600US 

ÂØP¨£kQÓx. PhÜ¢÷uõºPÐUS •Ê¨£n•® 

öPõkUP¨£kQÓx. ÷uøÁ¯õÚ ©Ö©v¨¥mkU 

PnUSPøÍ GÊxP. 

––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –   
JUNE, 2018. 

Third Year 

COST ACCOUNTING  

Time : 3 hours Maximum  marks : 75 

PART A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. What is Cost Accounting? State its objectives. 

 AhUPÂø»U PnUQ¯À GßÓõÀ GßÚ? Auß 

÷|õUP[PøÍU TÖP. 

2. Compute various stock levels given the following : 
 Units 

Normal consumption per day 300 

Maximum consumption per day 420 

Minimum consumption per day 240 

Reorder quantity 3600 

Reorder period 10 – 15 Days 

Normal reorder period 12 Days 

 UG–458 BCO–31 
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 £À÷ÁÖ \μUS {ø»PøÍU PnUQk. 

 GsoUøP 

^μõÚ ~PºÄ |õöÚõßÖUS 300 

AvP£i ~PºÄ |õöÚõßÖUS 420 

SøÓ¢u£m\ ~PºÄ |õöÚõßÖUS 240 

©Ö Bøn AÍÄ 3600 

©Ö Bøn Põ» AÍÄ 10 – 15 |õmPÒ 

^μõ ©Ö Bøn Põ» AÍÄ 12 |õmPÒ 

3. From the following particulars calculate the 
Economic order quantity : 

 Actual Requirements   =   1,600 units 

 Cost of materials per unit  =   Rs. 40 

 Cost of placing and receiving 

 One order     =   Rs. 50 

 Annual carrying cost of inventory = 10% of 
inventory value. 

 RÌUPsh Â£μ[PÎ¼¸¢x ]UPÚ öPõÒ•uÀ 

AÍøÁU PnUQkP. 

 Esø©¯õÚ ÷uøÁPÒ   =  1,600 A»SPÒ 

 J¸ A»S ‰»¨ö£õ¸Îß AhUP® =  ¹. 40 

 J¸ Bøn EzuμÄ AÝ¨£Ä®, ö£ÓÄ®   

BS® ö\»Ä    =  ¹.  50 

 \μUSPøÍ ÷\P›zx øÁ¨£uØPõÚ Bska ö\»Ä 

\μUSPÎß ©v¨¤À 10 \uÃu®. 
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4. What is Bin Card? Distinguish between Bin Card 
and Stores Ledger.  

 öPõÒP»ß Amøh GßÓõÀ GßÚ? öPõÒP»ß 

Amøh ©ØÖ® \μUS¨ ÷£÷μk BQ¯ÁØÔØQøh÷¯ 

EÒÍ ÷ÁÖ£õhPøÍ ÂÍUSP. 

5. Write a note on : Taylor’s differential Piece Rate. 

 ]Ö SÔ¨¦ ÁøμP : öh´»›ß ÷ÁÖ£k® EØ£zvU 

÷PØÓ Fv¯®. 

PART B — (4  15 = 60 marks)  

             Answer any FOUR questions. 

6. Distinguish between Cost Accounting and 
Financial Accounting.  

 AhUPÂø» PnUQ¯¾US® {v PnUQ¯¾US® 

EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

7. In a manufacturing firm, a material is used as 
following : 

 Maximum Consumption  –  12,000 units per week 

 Minimum Consumption  –  4,000 units per week 

 Normal Consumption  –  8,000 units per week 

 Re-order quantity  –  48,000 units 

 Period – Minimum : 4 weeks : Maximum 6 weeks. 
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 Calculate  : 

 (a) Reorder Level 

 (b) Minimum Level 

 (c) Maximum Level 

 (d) Average Stock Level. 

 J¸ u¯õ›¨¦ {ÖÁÚzvÀ, J¸ ö£õ¸Ò 

RÌUPshÁõÖ £¯ß£kzu¨£kQÓx. 

 Ea\ £¯ß£õk  –  12,000 A»SPÒ J¸ ÁõμzvØS 

 SøÓ¢u£m\ £¯ß£õk  –  4,000 A»SPÒ J¸ ÁõμzvØS 

 C¯À¦ £¯ß£õk  –  8,000 A»SPÒ J¸ ÁõμzvØS 

 ©Ö Bøn AÍÄ  –  48,000 A»SPÒ 

 Põ» – SøÓ¢u £m\® : 4 Áõμ® : AvP£m\® – 6 Áõμ®. 

PnUQk : 

 (A) ©Ö Bøn \μUS AÍÄ 

 (B) SøÓ¢u£m\ \μUS AÍÄ 

 (C) Ea\ \μUPÍÄ 

 (D) \μõ\› \μUPÍÄ. 

8. Explain “ABC” method of Inventory Control. 

 “ABC” \μUSU Pmk¨£õk •øÓø¯ ÂÍUSP. 
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9. Find out the wage per hour from the following 
information : 

 Name of the worker  :   Mr. Krishna 

 Wages per year   :   Rs. 2,400 

 Annual Bonus   :   25% of wage’s  

 Employer’s contribution to P.F. – 10% of wage’s 

 Employer’s contribution to P.F. – 8% of wage’s 

 Employee’s contribution to E.S.I. – 3% of wage’s 

 Total Leave with pay 

 Permitted during the year – 60 Day’s 

 Cost of Labour Welfare Amenities – Rs. 8,000 

 No.of workmen – 200 

 Normal Idle time : 80 Hour’s 

 Working days per annum – 320 Days of 8 hour’s. 

 RÌUPsh uPÁÀPÎ¼¸¢x J¸ ©oU T¼ø¯U 

PnUQkP. 

 öuõÈ»õÎ°ß ö£¯º  :   v¸. Q¸èn 

 BskU T¼   :   ¹. 2,400 

 FUPz öuõøP (BskUS)  :   T¼°À 25% 

 {μ¢uμ øÁ¨¦ {vUS {ºÁõPzvß öPõøh – T¼°À 

10% 
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 {μ¢uμ øÁ¨¦ {vUS öuõÈ»õÎ°ß öPõøh – 

T¼°À 8% 

 öuõÈ»õÍº Põ¨¥mkz vmhzvØS {ºÁPzvß 

öPõøh – T¼°À 3% 

 AÝ©vUP¨£mh \®£Ízxhß Ti¯ Âk•øÓ 

(BskUS) 60 |õmPÒ 

 öuõÈ»õÍº |» Á\vPÎß ö\»Ä – ¹. 8,000 

 öuõÈ»õÍº GsoUøP – 200 

 \õuõμn E£÷¯õPªÀ»õ ÷|μ® – 80 ©o ÷|μ® 

 ÷Áø» |õmPÒ (BskUS) – 320 |õmPÒ 

 (|õöÍõßÖUS 8 ©o ÷|μ®). 

10. Product X is obtained after passing though three 
Distinct processes. Prepare process accounts from 
the following information : 

 Processes 

 I 
Rs. 

II 
Rs. 

III 
Rs. 

Materials 5,200 3,960 5,924

Direct Wages 4,000 6,000 8,000

 Production over heads Rs. 18,000 
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 In process I, 1,000 unit’s were introduced from  
Rs. 6,000 production overheads to be distributed 
as 100% on wages : 

 Actual output  
Units 

Normal 
Loss 

Scrap Value 
Per Unit 

Rs. 
Process I 950 5% 4 
Process II 840 10% 8 
Process III 750 15% 10 

 ö£õ¸Ò X ‰ßÖ uÛzuÛ ö\´•øÓPøÍU Ph¢u 

¤ß ö£Ó¨£kQÓx. RÌUPsh uPÁÀPÎ¼¸¢x 

ö\´•øÓU PnUSPøÍ u¯õ›UPÄ®. 

 ö\´•øÓ 

 I 
¹. 

II 
¹. 

III 
¹. 

ö£õ¸mPÒ 5,200 3,960 5,924

÷|μiU T¼ 4,000 6,000 8,000

 EØ£zva ö\»ÄPÒ ¹. 18,000. 

 ö\´•øÓ I–À 1000 A»SPÒ ¹. 6,000–US 

öuõh[P¨£kQßÓÚ. EØ£zv ÷©Ø ö\»ÄPÒ ÷|μiU 

T¼°À 100% £Qº¢x öPõÒP. 

 Esø©¯õÚ  

EØ£zv 

A»SPÒ 

\õuõμn 

|mh® 

A»S JßÖUS Ga\¨ 

ö£õ¸Îß ©v¨¦  

¹. 

ö\´•øÓ I 950 5% 4 

ö\´•øÓ II 840 10% 8 

ö\´•øÓ III 750 15% 10 
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11. From the following data relating to vehicle A. 
Computer the cost per running tonne – KM. 

 Vehicle “A” 
Kilometers Run (Annual) 15,000 
Tonnes per KM (Average) 6 
Cost of vehicle (Rs.) 2,50,000 
Road license (Annual) 800 
Insurance (Annual) (Rs.) 700 
Garage Rent (Annual) (Rs.) 1,300 
Supervision and salaries (Rs.) 2,700 
Driver’s wages per hour (Rs.) 4 
Cost of fuel per liter (Rs.) 6 
Repair and maintenance per KM (Rs.) 2 
KHS run per litre 20 
Type allocation per KM (Rs.) 1 
Estimated life of vehicle (KMS) 1,00,000 

 Charge interest at 5% per annum on cost of 
vehicle. 

 The vehicle runs 20 KMS per hour on an average. 

 R÷Ç öPõkUP¨£mkÒÍ ¦ÒÎ ÂÁμ[PÎ¼μ¢x A 

GßÓ ÷£¸¢vß J¸ hß Q.«.–UPõÚ AhUPzvøÚU 

Psk¤iUPÄ®. 

 ÷£¸¢x “A” 

ö\ßÖÒÍ yμ® (BskUS) 15,000 Q.«. 

J¸ Q.«.–US Gkzxa ö\À»¨£mh ö£õ¸Ò (\μõ\›) ¹. 6 

÷£¸¢vß AhUPÂø» ¹. 2,50,000 
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 ÷£¸¢x “A” 

\õø» E›©® (BnkUS) ¹. 800 

Põ¨¥k (BnkUS) ¹. 700 

÷£¸¢x {Özxªh ÁõhøP (BnkUS) ¹. 1,300 

\®£Í® ©ØÖ® ÷©Ø£õºøÁ (BnkUS) 2,700 

J¸ ©o ÷|μzvØS Jmk|º \®£Í® ¹. 4 

J¸ ¼mhº ö£m÷μõÀ Âø» ¹. 6 

J¸ Q.«.–US BS® £μõ©›¨¦a ö\»Ä ¹. 2 

J¸ ¼mh¸USa ö\À¾® yμ®  20 Q.«. 

h¯º ÷u´©õÚ® 1 Q.«.–US ¹. 1 

÷£¸¢vß B²mPõ» EøÇ¨¦ 1,00,000 Q.«. 

 ÷£¸¢vß AhUPÂø»°À BskUS Ámi 5% 

÷\õ¢vkP. \μõ\›¯õP ÷£¸¢x J¸ ©o ÷|μzvØS 

20–Q.«. ö\ÀQÓx. 

12. The following particulars related to a contract : 
 Rs. 

Materials issued 85,000 

Wages 74,000 

Plant at cost 15,000 

Direct expenses 13,000 

Establishment charges 4,000 

Materials returned to store 500 
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 Rs. 

Cost of work certified 2,00,000 

Cost of work uncertified  4,500 

Materials on hand (31 December) 1,800 

Wages outstanding 2,500 

Value of plant (31 December) 10,000 

 The contract price was agreed at Rs. 2,60,000. 
Cash received from the contracted was  
Rs. 1,95,000. Prepare contract account and 
contractees account, balance sheet abstract.  

 RÌUPsh ÂÁμ[PÒ Kº J¨£¢u® 

öuõhº¦øh¯uõS®. 

 ¹. 

‰»¨ ö£õ¸mPÒ uμ¨£mhøÁ 85,000 

T¼ 74,000 

ö£õÔ ÁøP (AhUP Âø»°À) 15,000 

÷|μia ö\»ÄPÒ 13,000 

{º©õÚa ö\»ÄPPÒ 4,000 

£shPzvØSz v¸¨¤ AÝ¨£¨£mh 

‰»¨ö£õ¸mPÒ 

500 

\õßÖ AÎUP¨£mh ÷Áø» 2,00,000 
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 ¹. 

\õßÖ AÎUP¨£mhõ ÷Áø»°ß AhUPÂø» 4,500 

‰»¨ ö£õ¸Ò øP°¸¨¦ (31 i\®£º) 1,800 

öPõk£h ÷Ási¯ T¼ 2,500 

ö£õÔ ÁøP°ß ©v¨¦ (31 i\®£º) 10,000 

 J¨£¢u Âø» ¹. 2,60,000 GÚ J¨¦U 

öPõÒÍ¨£mhx. J¨£¢u® öPõkzu Á›hª¸¢x 

ö£ØÓ öμõUP® ¹. 1,95,000 J¨£¢u® PnUøP²®, 

J¨£¢u® öPõkzuÁ›ß PnUøP²® C¸¨¦ {ø» 

SÔ¨¦ u¯õº ö\´P. 

______________ 



  

 

 

B.Com. DEGREE EXAMINATION —  
JUNE, 2018. 

Third Year 

COMMERCIAL LAW AND INDUSTRIAL LAW 

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. What is contract? 
 J¨£¢u® GßÓõÀ GßÚ? 

2. Write a short notes on Quasi Contracts. 
 Aøμ J¨£¢u® £ØÔ ]Ö SÔ¨¦ ÁøμP. 

3. What is meant by conditions and warranties? 
 EzvμÁõu[PÒ ©ØÖ®  {£¢uøÚPÒ GßÓõÀ GßÚ? 

4. Write short notes on corruption. 
 FÇÀ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

5. What are the contributions? 
 £[PÎ¨¦ GßÓõÀ GßÚ? 

 UG–459 BCO–32/ 
  BBCA–32 
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PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Explain about the nature of contract. 
 J¨£¢u C¯À¦PøÍ £ØÔ ÂÍUSP. 

7. What are the features of contingent contracts? 
 Gvº£õºUS® J¨£¢u[PÎß A®\[PøÍ £ØÔ 

GÊxP. 

8. Explain the provisions relating to Welfare of 
Employees in the factories Act. 

 öuõÈØ\õø» \mhzvÀ £o¯õÍº |»ß SÔzu 

Âv•øÓPøÍ ÂÍUSP. 

9. What is mean by performance of contract? Write a 
types of performance. 

 ö\¯ÀvÓß J¨£¢u® GßÓõÀ GßÚ? ö\¯ÀvÓß 

J¨£¢uzvß ÁøPPøÍ ÂÁ›. 

10. What are the rights and duties of the parties? 
 £õºmiPÎß E›ø©PÒ ©ØÖ® Phø©PøÍ GÊxP. 

11. Explain about the workman compensation fund. 
 öuõÈ»õÍº CÇ¨¥kPÎß {vPøÍ £ØÔ ÂÁ›. 

12. What are the breach of contract and its 
consequences? 

 J¨£¢uzvß «ÓÀ ©ØÖ® Auß ÂøÍÄPÒ ¯õøÁ? 

——––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2018. 

Third Year 

AUDITING 

Time : 3 hours Maximum  marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What is internal audit? How does it  differ from 
statutory audit? 

 APz uoUøP GßÓõÀ GßÚ? APz uoUøPø¯ 

\mh uoUøP°¼¸¢x ÷ÁÖ£kzx. 

2. State the statutory liabilities of an auditor under 
the companies Act 2013. 

 uoUøP¯õÍ›ß ö£õÖ¨¦PøÍ, {Ö© \mh® 2013RÌ 

ÂÁ›. 

3. What is vouching? 

 \õßÓõ´Ä GßÓõÀ GßÚ? 

 UG–461 BCO–34 
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4. What is a secret reserve? State the importance of 
creating secret reserve. 

 μP]¯ Põ¨¥k GßÓõÀ GßÚ? Auß •UQ¯zxÁzøu 

TÖP. 

5. Define investigation. What are the objectives of 
investigation? 

 ¦»Úõ´Ä Áøμ¯Ö. Auß ÷|õUP[PÒ ¯õøÁ? 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. What are the advantages and disadvantages of 
audit programme? 

 uoUøP ö\¯À vmh® |ßø© wø©PøÍ TÖP. 

7. Enumerate the various types of audit with merits 
and demerits. 

 uoUøP°¯¼ß £À÷ÁÖ ÁøPPøÍ TÖP. Auß 

|ßø© wø©PøÍ TÖP. 

8. Distinguish between an error and fraud in the 
books of business. 

 Â¯õ£õμ HkPÎÀ ¤øÇ ©ØÖ® ÷©õ\iø¯ 

÷ÁÖ£kzxP. 

9. Explain the duties of auditor in vouching. 

 uoUøP¯õÍº \õßÓõ´Âß ÷£õxÒÍ Phø©PøÍ 

ÂÁ›. 
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10. What are the factors to be considered in 
calculating depreciation? 

 ÷u´©õÚ® PnUQku¼ß ÷£õx ÷©ØöPõÒÍ 

÷Ási¯ |øh•øÓPÒ ¯õøÁ? 

11. State the provisions of companies Act 2013 with 
reference to an appointment of an auditor. 

 uoUøP¯õÒ {¯©nzvøÚ, {Ö© \mh® 2013 RÌ 

ÂÁ›. 

12. Enumerate the various instances of professional 
misconduct of a chartered accountant which 
however do not require action by a high court? 

 E¯º}v©ßÓzvß |hÁiUøPUS Em£hõu 

uoUøP¯õÍ›ß öuõÈÀ \õº¢u £À÷ÁÖuÍÁõÚ 

ö\¯À£õkPøÍ SÔ¨¤kP. 

––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –   
JUNE, 2018. 

Third Year  

INSURANCE 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. Differentiate between double insurance and re 
insurance. 

 CμmøhU Põ¨¥k ©ØÖ® ©ÖPõ¨¥k ÷ÁÖ£kzxP. 

2. What is Crop insurance? Explain. 

 £°ºU Põ¨¥k GßÓõÀ GßÚ? ÂÍUSP. 

3. State the role of an agent in insurance. 

 Põ¨¥miÀ •PÁ›ß £[QøÚU TÖP. 

4. What are the different types of marine insurance. 

 PhÀ Põ¨¥miß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

 UG–462 BCO–35 



 UG–462 2

5. What you meant by mortality table? How it is 
prepared? 

 CÓ¨¦ AmhÁøn GßÓõÀ GßÚ? Ax G[VÚ® 

u¯õ›UP¨£kQÓx? 

SECTION B — (4  15 = 60 marks)  

             Answer any FOUR questions. 

6. State the importance, features and principles of 
fire insurance. 

 wUPõ¨¥miß öPõÒøPPÒ C¯À¦PÒ ©ØÖ® 

•UQ¯zxÁzøuU TÖP. 

7. Explain the growth and importance of insurance. 

 Põ¨¥miß ÁÍºa] ©ØÖ® •UQ¯zxÁzøu¨ £ØÔ 

ÂÁ›. 

8. What do you mean by risk? Explain the 
determinants of risks. 

 ChºPÒ GßÓõÀ GßÚ? AuøÚz wº©õÛUS® 

PõμoPÒ £ØÔ ÂÁ›. 

9. What is Marine Policy? State its contents. 

 PhÀ Põ¨¥k GßÓõÀ GßÚ? Auß \õμõ®\zøu ÂÁ›. 
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10. Explain the procedure to apply life insurance 
policy. 

 B²Ò Põ¨¥miøÚ GkUS® ÷£õx ¤ß£ØÓ¨£k® 

|iÁiUøPPÒ £ØÔ GÊx. 

11. Explain the various types of ways to distribute the 
surrender values.  

 \μnøhÄ ©v¨¦ GßÓõÀ GßÚ? AuøÚ PnUQk® 

ÁÈ•øÓPÒ £ØÔ ÂÁ›. 

12. Explain the Powers and Duties of IRDA. 

 IRDA Âß AvPõμ[PøÍ²®, Phø©PøÍ²® £ØÔ 

ÂÁ›. 

––––––––––––– 


